Description of DLA Credit return Threshold

The DLA Material Returns Policy allows for providing credit on quantities of returned material where the returned quantity added to existing DLA owned assets (both on hand and Due in from Vendors) does not exceed our credit return thresholds.    
AAC D items
[bookmark: _GoBack]For Acquisition Advice Code D (AAC D) items. The credit return threshold is the sum of an item’s exiting backorders + Safety Stock requirement + Lead time demand + Coverage Duration + 2 year forecast.

Example
DLA has 880 total assets (700 assets on hand plus 180 assets due in.) 
DLA Item has no backorders, a safety stock quantity of 20, a forecasted demand rate of 1 per day, a lead time of 200 days, a coverage duration of 90 days.
Our creditable level would be a quantity of 1,040 which is the sum of the following:
Backorders = 0
Safety Stock = 20
Lead-time demand = 200   (daily demand rate multiplied by lead time)
Coverage duration = 90     (daily demand rate multiplied by coverage duration)
2 year forecast = 730         (daily demand rate multiplied by 730 days)
The difference between DLA creditable level and total assets determines how many we could take back for credit. In this example it would be 1,040 – 880 =  160.  
If DLA had more than 1,040 assets then we would not take any back for credit.


AAC Z items
For Acquisition Advice Code Z (AAC Z) items. The credit return threshold is the sum of an item’s exiting backorders + DLA worldwide MAX On Hand + 2 year history.

Example
DLA has 160 total assets (100 assets on hand plus 60 assets due in.) 
DLA Item has no backorders, a MaxOH of 150 at DDSP, a MaxOH of 50 at DDDE, and a Consumption History of 20.
Our creditable level would be a quantity of 240 which is the sum of the following:
Backorders = 0
MaxOH = 200          (sum across DLA Planned SKUs)
2 year history = 40  (DLA Consumption History multiplied by 2)
The difference between DLA creditable level and total assets determines how many we could take back for credit. In this example it would be 240 – 160 =  80.  
If DLA had more than 240 assets then we would not take any back for credit.
